
Sr.
No.

Client Question
ID Question Body and Alternatives Marks Negative

Marks

Objective Question
1 1 Which India-born American jointly won the 2019 Nobel Prize in Economic Sciences with other two?

 
A1
: Bibek Debroy

 

A2
: Pranab Bardhan

 

A3
: Abhijit Banerjee

 

A4
: Arvind Panagariya

 

1.0 0.00

Objective Question
2 2 Who has been recently elected as Chairman of Indian Banks Association (IBA)?

 
A1
: S S Mallikarjuna Rao – MD & CEO, PNB

 

A2
: Karnam Sekar – MD & CEO, IOB

 

A3
: Rajnish Kumar – Chairman SBI

 

A4
: None of these

 

1.0 0.00

Objective Question
3 3 Which country has won the 9th edition of 2019 men’s Rugby World Cup played in Japan?

 
A1
: England

 

A2
: New Zealand

 

A3
: South Africa

 

A4
: Wales

 

1.0 0.00

Objective Question
4 4 Who wrote the business book ‘The Third Pillar: How Markets and the State Leave the Community Behind’?

 
A1
: Abhijit Banerjee

1.0 0.00
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A2
: Jagdish Bhagwati

 

A3
: Raghuram Rajan

 

A4
: Bimal Jalan

 

Objective Question
5 5 When is the Constitution Day (also known as ‘Samvidhan Divas’) celebrated in India?

 
A1
: November 23

 

A2
: November 24

 

A3
: November 25

 

A4
: November 26

 

1.0 0.00

Objective Question
6 6

 
A1
: The Equator

 

A2
: Tropic of Cancer

 

A3
: Plane of Ecliptic

 

A4
: Arctic Circle

 

1.0 0.00

Objective Question
7 7 The electrical equivalent of one horse power is equal to ______ in the International System of Unit (SI)?

 
A1
: 716 watts

 

A2
: 746 watts

 

A3
: 756 watts

 

A4
: 776 watts

 

1.0 0.00

Objective Question
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8 8 During India’s freedom movement, the Simon Commission visited India to
 
A1
: enquire into the progress of responsible Government in India.

 

A2
: discuss the demand for the formation of Pakistan.

 

A3
: see the important historical places.

 

A4
: None of these

 

1.0 0.00

Objective Question
9 9 What does ‘Utility’ in economics mean?

 
A1
: The capacity to provide comforts.

 

A2
: The capacity to earn an income.

 

A3
: The capacity to satisfy human wants.

 

A4
: The capacity to satisfy human motives.

 

1.0 0.00

Objective Question
10 10 Ramon Magsaysay Award is named after the former President of which Asian country?

 
A1
: Indonesia

 

A2
: Singapore

 

A3
: Thailand

 

A4
: Philippines

 

1.0 0.00

Objective Question
11 11 Arzoo said to her daughter Aakriti, “I was half the age as you are now when you were born.” If Aakriti's present age is 42

years, what would be Arzoo’s age when Aakriti was 8 years old?
 
A1
: 31 years

 

A2
: 32 years

 

A3
: 29 years

 

A4 23 years

1.0 0.00
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:

 

Objective Question
12 12 Gaurav is shorter than Aditya but taller than Yash; Rohan is shorter than Yash; Rahul is taller than Rohan; Rahul is shorter

than Aditya but taller than Gaurav. Who amongst them is the tallest?
 
A1
: Rahul

 

A2
: Yash

 

A3
: Gaurav

 

A4
: Aditya

 

1.0 0.00

Objective Question
13 13 The difference between compound interest and simple interest is Rs.108 at 12% rate of interest for 2 years. Calculate the

amount.
 
A1
: Rs.7,000

 

A2
: Rs.6,000

 

A3
: Rs.5,000

 

A4
: Rs.7,500

 

1.0 0.00

Objective Question
14 14 A father is six times as old as his son and the mother is five times as old as the son. The sum of the father’s and the mother’s

age is 77 yrs. What is the age of the father?
 
A1
: 42 yrs

 

A2
: 45 yrs

 

A3
: 36 yrs

 

A4
: 48 yrs

 

1.0 0.00

Objective Question
15 15 If 30 men can do a piece of work in 20 hours, in how many hours will 10 men do it?

 
A1
: 25 hours

 

A2
: 40 hours

 

1.0 0.00
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A3
: 54 hours

 

A4
: 60 hours

 

Objective Question
16 16 In retrograde vernier, smallest division of vernier is _______ the smallest division of primary scale.

 
A1
: shorter than

 

A2
: longer than

 

A3
: equal to

 

A4
: half of

 

1.0 0.00

Objective Question
17 17 Which of the following is not a segment of Global Positioning System (GPS)?

 
A1
: Space segment

 

A2
: Operational segment

 

A3
: User equipment segment

 

A4
: None of these

 

1.0 0.00

Objective Question
18 18 Static GPS

 
A1
: requires at least three receivers.

 

A2
: requires at least two receivers.

 

A3
: involves one stationary and one moving receiver.

 

A4
: involves two moving receivers.

 

1.0 0.00

Objective Question
19 19 GPS satellites broadcast two carrier waves which

 
A1
: are modulated by the coded information signal.

 

A2 are radio waves.

1.0 0.00
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:

 

A3
: travel with the speed of light.

 

A4
: All these

 

Objective Question
20 20 The determination of the elevations of stations from vertical angles and geodetic lengths at mean sea level is

called__________.
 
A1
: Trigonometric leveling

 

A2
: Triangulation

 

A3
: Route surveying

 

A4
: Hydrographic survey

 

1.0 0.00

Objective Question
21 21 In trigonometric leveling, the correction due to refraction and curvature is measured

 
A1
: in angular measure.

 

A2
: in linear measure.

 

A3
: iteratively.

 

A4
: graphically.

 

1.0 0.00

Objective Question
22 22 The ideal triangle for triangulation system is Isosceles triangle whose base angle are_______.

 
A1
: 56o 14'

 

A2
: 46o 14'

 

A3
: 66o 14'

 

A4
: 36o 24'

 

1.0 0.00

Objective Question
23 23 The Tacheometric method is best suited for the preparation of contour map of ________.

 
A1 Valley

1.0 0.00
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:

 

A2
: Hill

 

A3
: River

 

A4
: Planes

 

Objective Question
24 24 The plane surfaces are shown by

 
A1
: closed contours with higher values inside.

 

A2
: closed contours with higher values outside.

 

A3
: a series of straight parallel and widely spread contours.

 

A4
: None of these

 

1.0 0.00

Objective Question
25 25 Which of the following survey includes soil survey?

 
A1
: Preliminary survey

 

A2
: Final location survey

 

A3
: Reconnaissance

 

A4
: Map study

 

1.0 0.00

Objective Question
26 26 In which of the following, survey details are covered roughly but not accurately?

 
A1
: Reconnaissance

 

A2
: Map study

 

A3
: Detailed study

 

A4
: Aerial survey

 

1.0 0.00

Objective Question
27 27 The area of irregular and curved boundary is estimated efficiently using 1.0 0.00
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A1
: Simpson method.

 

A2
: Trapezoidal method.

 

A3
: Weddle’s method.

 

A4
: Average ordinate method.

 

Objective Question
28 28 The curve which consists of two or more simple circular arcs curving in same direction and joined at common tangent point

is called
 
A1
: Compound curve.

 

A2
: Simple curve.

 

A3
: Reverse curve.

 

A4
: Traverse curve.

 

1.0 0.00

Objective Question
29 29 Floats in hydrographic suvery are used to

 
A1
: measure average velocity of the stream.

 

A2
: measure parallex difference.

 

A3
: mark aerial photographs.

 

A4
: locate shore signal.

 

1.0 0.00

Objective Question
30 30 Which of the following is the primary cause of haze in the image obtained from remote sensing satellites?

 
A1
: Rayleigh Scattering

 

A2
: Compton scattering

 

A3
: Raman scattering

 

A4
: None of these

1.0 0.00
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Objective Question
31 31 The net ultimate bearing capacity of a soil is 35 Y/m2 and density 1.8 Y/m2. The safe bearing capacity at 1m below ground

surface is (Factor of safety is 3.5)________.
 
A1
: 11.8 Y/m2

 

A2
: 21.8 Y/m2

 

A3
: 17.8 Y/m2

 

A4
: 12.8 Y/m2

 

1.0 0.00

Objective Question
32 32 Stoke’s law is used to determine

 
A1
: Specific gravity of soils.

 

A2
: Void air ratio.

 

A3
: Grain size distribution of soils.

 

A4
: Water content in soil.

 

1.0 0.00

Objective Question
33 33 The ratio of field dry unit weight to laboratory maximum dry unit weight is called

 
A1
: Relative compaction.

 

A2
: Relative density.

 

A3
: Void density.

 

A4
: Air density.

 

1.0 0.00

Objective Question
34 34 A soil sample has been found to have nature moisture content of 40%, liquid limit 60% and plastic limit 30%.The

consistency of the sample is_________.
 
A1
: 0.33

 

A2
: 0.25

 

A3 1

1.0 0.00
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:

 

A4
: 0

 

Objective Question
35 35 The auger boring

 
A1
: is the simplest boring method by hand drilling.

 

A2
: can be used for shallower depth.

 

A3
: is used generally for depths up to 5 m.

 

A4
: All these

 

1.0 0.00

Objective Question
36 36 The standard penetration test is carried out in a

 
A1
: clean hole of diameter about 55 to 150 mm.

 

A2
: hole whose sides are supported by casing or drilling mud.

 

A3
: hole whose sides are unsupported.

 

A4
: clean hole of diameter about 55 to 150 mm and hole whose sides are supported by casing or drilling mud.

 

1.0 0.00

Objective Question
37 37 In disturbed sample of soil natural

 
A1
: structure of soils remain unaffected.

 

A2
: structure of soils gets partly or fully modified.

 

A3
: water content may be preserved and it can be obtained by direct excavations by auger.

 

A4
:

structure of soils gets partly or fully modified and water content may be preserved and it can be obtained by direct
excavations by auger.

 

1.0 0.00

Objective Question
38 38 The foundation which supports a large number of footings of loads of single unit and covers the whole loaded area is called

 
A1
: Raft foundation.

 

A2
: Strip foundation.

1.0 0.00
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A3
: Combined footings.

 

A4
: Shallow foundation.

 

Objective Question
39 39 Which of the following is/are major criteria in designing of foundations?

 
A1
: Location and depth criteria

 

A2
: Shear failure criteria

 

A3
: Settlement criteria

 

A4
: All these

 

1.0 0.00

Objective Question
40 40 Which of the following is not a type of pile foundation?

 
A1
: End bearing piles

 

A2
: Friction piles

 

A3
: Compaction piles

 

A4
: Butt piles

 

1.0 0.00

Objective Question
41 41 Which of the following is/are the factor (s) of safety used in the analysis of stability of slopes?

 
A1
: Cohesion

 

A2
: Height

 

A3
: Shear strength

 

A4
: All these

 

1.0 0.00

Objective Question
42 42 Probable type of failure of slope is/are

 
A1
: Depth failure

 

1.0 0.00
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A2
:

Top failure

 

A3
: Basic failure

 

A4
: Toe failure

 

Objective Question
43 43 Retaining walls are usually designed for

 
A1
: active earth pressure.

 

A2
: passive earth pressure.

 

A3
: to avoid air pressure.

 

A4
: to resist gravity.

 

1.0 0.00

Objective Question
44 44 The technique in which the density of granular soils are increased by the insertion of a heavy vibrating poker to desired depth

is called
 
A1
: Kinematic floation.

 

A2
: Vibro-flotation.

 

A3
: Static floation.

 

A4
: Cohesion.

 

1.0 0.00

Objective Question
45 45 Soil stabilization

 
A1
: involves the use of stabilizing agents (binder materials) in weak soils.

 

A2
: is used to improve its compressibility and strength.

 

A3
: is used to improve its permeability and durability.

 

A4
: All these

 

1.0 0.00

Objective Question
46 46 The plinth area of a building does not include

 

1.0 0.00
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A1
:

Area of the walls at the floor level.

 

A2
: Internal shaft for sanitary installations.

 

A3
: Lift and wall including landing.

 

A4
: Area of cantilevered porch.

 

Objective Question
47 47 Which of the following is the incorrect statement?

 
A1
: Plastering is measured in cubic meter.

 

A2
: Glazing is measured in sq.m.

 

A3
: No deduction is made for the volume occupied by reinforcement.

 

A4
: No deduction is made for the openings upto 0.1 sq.m.

 

1.0 0.00

Objective Question
48 48 In long and short wall method of estimation, the length of long wall is defined as centre to centre distance between the walls

and ________breadth of the wall.
 
A1
: two-third

 

A2
: half

 

A3
: three-fourth

 

A4
: one-fourth

 

1.0 0.00

Objective Question
49 49 The need of a revised estimate arises if sanctioned estimate exceeds________ with change in price level.

 
A1
: 5%

 

A2
: 10%

 

A3
: 7.5%

 

A4
: 12.5%

 

1.0 0.00

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Objective Question
50 50 The rates of particular item of work depend on

 
A1
: specification of work and material.

 

A2
: quality of materials.

 

A3
: locations of site of work and its distance from source of materials.

 

A4
: All these

 

1.0 0.00

Objective Question
51 51 The term used to denote a procedure of costing or valuing an item of work on the basis of actual labourers and materials

required is called
 
A1
: Day work.

 

A2
: Second work.

 

A3
: Prime cost.

 

A4
: Labor work.

 

1.0 0.00

Objective Question
52 52 Which of the following is used for rain water pipes in 2nd class building?

 
A1
: Pyrite finished painted

 

A2
: Cast iron finished painted

 

A3
: Copper finished painted

 

A4
: Steel finished painted

 

1.0 0.00

Objective Question
53 53 The ratio of shear stress to shear strain is called

 
A1
: Young Modulus

 

A2
: Shear modulus

 

A3
: Modulus of rigidity

 

1.0 0.00
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A4
:

Either shear modules or modules of rigidity

 

Objective Question
54 54 The algebraic sum of all the forces on either side of the section is called

 
A1
: Bending moment.

 

A2
: Shear force.

 

A3
: Shear stress.

 

A4
: Shear strain.

 

1.0 0.00

Objective Question
55 55 When load on the free end of the cantilever beam is increased, failure will occur

 
A1
: at the fixed end.

 

A2
: at the free end.

 

A3
: in the middle.

 

A4
: None of these

 

1.0 0.00

Objective Question
56 56 The bending moment diagram for simply supported beam loaded on its centre is a/an

 
A1
: Isosceles triangle.

 

A2
: Equilateral triangle.

 

A3
: Rectangle.

 

A4
: Square.

 

1.0 0.00

Objective Question
57 57 The maximum shear stress developed in the beams is ______ the average shear stress.

 
A1
: 1.5 time

 

A2
: two times

 

A3 half of

1.0 0.00
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:

 

A4
: equal to

 

Objective Question
58 58 A structured member subjected to an axial compressive force is called________.

 
A1
: Strut

 

A2
: Shear moment

 

A3
: Shear stress

 

A4
: Bending moment

 

1.0 0.00

Objective Question
59 59 When a column is subjected to an eccentric load, the stress induced in the column is/are______.

 
A1
: Shear stress

 

A2
: Bending stress

 

A3
: Direct stress

 

A4
: Both bending stress and direct stress

 

1.0 0.00

Objective Question
60 60 Which of the following is/are the matrix method(s) of structural analysis?

 
A1
: Flexibility method

 

A2
: Stiffness method

 

A3
: Displacement method

 

A4
: All these

 

1.0 0.00

Objective Question
61 61 On which of the following theorem, influence line diagram is based?

 
A1
: Reciprocal theorem

 

A2
: Eddy’s theorem

1.0 0.00
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A3
: Bernoulli’s theorem

 

A4
: Maximum load theorem

 

Objective Question
62 62 The shear force diagram for a beam is________ then bending moment diagram is likely to be _________.

 
A1
: Linear, parabola

 

A2
: Linear, bilinear

 

A3
: Parabola, parabola

 

A4
: Linear, linear

 

1.0 0.00

Objective Question
63 63 Which of the following method of designing RCC structure is called Elastic Method?

 
A1
: Working Stress Method

 

A2
: Ultimate Load Method

 

A3
: Limit State Method

 

A4
: None of these

 

1.0 0.00

Objective Question
64 64 Which of the following is assumption(s) in elastic theory of bending (applied in RCC)?

 
A1
: Modulus of elasticity of concrete is constant at all stresses.

 

A2
: Steel reinforcement is free from initial stresses.

 

A3
: The tensile stresses are taken by reinforcement alone.

 

A4
: All these

 

1.0 0.00

Objective Question
65 65 Which of the following method of design of RCC is called Load Factor Method?

 
A1
: Working stress method

 

1.0 0.00
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A2
:

Limit state method

 

A3
: Ultimate stress method

 

A4
: None of these

 

Objective Question
66 66 Main reinforcement of RC slab consists of 10 mm bars at 10 cm spacing .If it is desired to replace 10 mm bars by 13 mm

bars, then new spacing will be_______.
 
A1
: 16.9 cm

 

A2
: 13 cm

 

A3
: 10 cm

 

A4
: 20 cm

 

1.0 0.00

Objective Question
67 67 For a reinforced concrete section, the shape of shear stress diagram is

 
A1
: wholly parabolic.

 

A2
: elliptical.

 

A3
: rectangular.

 

A4
: straight line.

 

1.0 0.00

Objective Question
68 68 Diagonal tension in beams

 
A1
: increases below neutral axis and decreases above the neutral axis.

 

A2
: is same throughout.

 

A3
: is maximum at neutral axis.

 

A4
: None of these

 

1.0 0.00

Objective Question
69 69 A twisted bar has ________ yield stress than ordinary mild steel bar.

 

1.0 0.00
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A1
:

10% less

 

A2
: 50% more

 

A3
: 20% less

 

A4
: 20% more

 

Objective Question
70 70 In a slab, the transverse reinforcement is provided at an angle of ________ to the span of slab.

 
A1
: 30o

 

A2
: 60o

 

A3
: 90o

 

A4
: 45o

 

1.0 0.00

Objective Question
71 71 In which of the following way diagonal tension reinforcement is provided in a beam?

 
A1
: Longitudinal bars

 

A2
: Bent up bars

 

A3
: Both longitudinal bars and bent up bars

 

A4
: None of these

 

1.0 0.00

Objective Question
72 72 At constant strain, the loss of stress in steel with time is called

 
A1
: Bending moment.

 

A2
: Shear stress.

 

A3
: Shear moment.

 

A4
: Relaxation.

 

1.0 0.00

Objective Question
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73 73 If load carrying capacity of a column designed by working stress method is 600 kN, then collapse load of column is_______.
 
A1
: 900 kN

 

A2
: 750 kN

 

A3
: 800 kN

 

A4
: 500 kN

 

1.0 0.00

Objective Question
74 74 When steel bars are embedded in concrete, the concrete after setting resist any force that tends to pull or push that rod. The

intensity of this adhesive force is called_______.
 
A1
: Bond stress

 

A2
: Bond length

 

A3
: Bond order

 

A4
: Bond shear

 

1.0 0.00

Objective Question
75 75 The bond between steel and concrete is mainly due to

 
A1
: pure adhesive resistance.

 

A2
: frictional resistance.

 

A3
: mechanical resistance.

 

A4
: All these

 

1.0 0.00

Objective Question
76 76 In prestressed concrete, the purpose of reinforcement is to

 
A1
: provide adequate stress.

 

A2
: resist tensile stress.

 

A3
: impart initial compressive stress.

 

A4
: provide strength.

1.0 0.00
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Objective Question
77 77 In pre-tensioned beams, the prestressing losses are_______.

 
A1
: 15%

 

A2
: 20%

 

A3
: 30%

 

A4
: 25%

 

1.0 0.00

Objective Question
78 78 Maximum deflection in steel beam of length ‘L’ is limited to___________.

 
A1
: L/100

 

A2
: L/200

 

A3
: L/325

 

A4
: L/4006

 

1.0 0.00

Objective Question
79 79 _________supports loads from the floor slab as well as from wall.

 
A1
: Lintel beam

 

A2
: Stringer beam

 

A3
: Spandrel beam

 

A4
: Header beam

 

1.0 0.00

Objective Question
80 80 Slenderness ratio of the lacing bars should not exceed__________.

 
A1
: 120

 

A2
: 145

 

A3
: 70

 

1.0 0.00
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A4
: 75

 

Objective Question
81 81 The minimum size of fillet weld for a part of thickness 10 mm is______.

 
A1
: 1 mm

 

A2
: 2 mm

 

A3
: 3 mm

 

A4
: 5 mm

 

1.0 0.00

Objective Question
82 82 The permissible stress for the butt weld is________ parent metal.

 
A1
: same as that of

 

A2
: less than that of

 

A3
: more than that of

 

A4
: half of the permissible stress for

 

1.0 0.00

Objective Question
83 83 Which of the following is not a tension member?

 
A1
: Wires

 

A2
: Cables

 

A3
: Rods

 

A4
: Columns

 

1.0 0.00

Objective Question
84 84 The direct stress in axial tension on the effective net area should not exceed_________.

(where σy is minimum yield stress of steel in N/mm2)

 
A1
:

0.96 σy

 

A2
:

0.6 σy

 

1.0 0.00
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A3
:

0.86 σy

 

A4
:

0.76 σy

 

Objective Question
85 85 In designing of axially loaded tension member, the required net sectional area is__________.

 
A1
:

 

A2
:

 

A3
:

 

A4
:

 

1.0 0.00

Objective Question
86 86 Which of the following component(s) of plate girder is/are designed to resist bending moment?

 
A1
: Flange

 

A2
: Web

 

A3
: Both flange and web

 

A4
: Web stiffeners

 

1.0 0.00

Objective Question
87 87 Which of the following is/are type of welds?

 
A1
: Lap

 

A2
: Butt

 

A3
: Plug

 

A4
: All these

 

1.0 0.00

Objective Question
88 88 The normal land width required for national highways on open plain terrain is_________.

 
A1 55 m

1.0 0.00
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:

 

A2
: 30 m

 

A3
: 45 m

 

A4
: 25 m

 

Objective Question
89 89 The group index of a soil lies between _______.

 
A1
: 0 and 10

 

A2
: 0 and 20

 

A3
: 0 and 30

 

A4
: 0 and 8

 

1.0 0.00

Objective Question
90 90 Which of the following test is/are used to evaluate the strength of soil?

 
A1
: Penetration tests

 

A2
: Bearing tests

 

A3
: Shear tests

 

A4
: All these

 

1.0 0.00

Objective Question
91 91 Total reaction time of driver is the

 
A1
: sum of perception time and brake reaction time.

 

A2
: difference of perception time and brake reaction time.

 

A3
: time between application of brakes and stopping of vehicle.

 

A4
: None of these

 

1.0 0.00

Objective Question
92 92 The distance travelled by vehicle after application of brakes to a dead stop position is_______. 1.0 0.00
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(where V is speed, g is acc. due to gravity and f is coefficient of friction)
 
A1
: called braking distance

 

A2
: equal to V2/2gf

 

A3
: equal to V2/2f

 

A4
: called braking distance and equal to V2/2gf

 

Objective Question
93 93 Which of the following is ruling gradient recommended by IRC on plain and rolling terrain?

 
A1
: 1 in 20

 

A2
: 1 in 25

 

A3
: 1 in 16.7

 

A4
: 1 in 30

 

1.0 0.00

Objective Question
94 94 Aggregates are

 
A1
: inert material fragments and particles forming main structure of a mixture used for roads.

 

A2
: material forming greater part of road and bears main stresses occurring in the road.

 

A3
: material forming small part of road and bears no stresses occurring in the road.

 

A4
:

Both inert material fragments and particles forming main structure of a mixture used for roads and material forming
greater part of road and bears main stresses occurring in the road.

 

1.0 0.00

Objective Question
95 95 Which of the following test is carried out to determine coefficient of hardness?

 
A1
: Dorry's Abrasion test

 

A2
: Impact test

 

A3
: Attribution test

 

A4
: Crushing strength test

1.0 0.00
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Objective Question
96 96 Bitumen is

 
A1
: a hydrocarbon material either natural or pyrogeneous origin.

 

A2
: completely soluble in carbon disulphide.

 

A3
: complex organic compound.

 

A4
: All these

 

1.0 0.00

Objective Question
97 97 In the cement used in construction of roads

 
A1
: Magnesia must be less than 5%.

 

A2
: Sulphur content must be less than 2.75%.

 

A3
: Insoluble residue not to exceed 1.5%.

 

A4
: All these

 

1.0 0.00

Objective Question
98 98 Design of flexible pavements can be classified on the basis of

 
A1
: soil classification.

 

A2
: performance serviceability concept.

 

A3
: mathematical analysis of stress/strain characteristics.

 

A4
: All these

 

1.0 0.00

Objective Question
99 99 A minimum gradient of __________ for flexible pavements is desirable to provide longitudinal drainage.

 
A1
: 1 in 250

 

A2
: 1 in 300

 

A3
: 1 in 400

 

1.0 0.00
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A4
:

2 in 250

 

Objective Question
100 100 If the number of commercial vehicle on the road per day is 100 then traffic volume is classified as___________.

 
A1
: Light

 

A2
: Medium

 

A3
: Heavy

 

A4
: None of these

 

1.0 0.00

Objective Question
101 101 Which of the following gives the idea about quality of sub-grade material compared to that of an excellent base material?

 
A1
: Figure of merit

 

A2
: Void ratio

 

A3
: Specific volume

 

A4
: California Bearing ratio method

 

1.0 0.00

Objective Question
102 102 Which of the following joints are provided in cement concrete pavements to reduce temperature stresses?

 
A1
: Expansion joints

 

A2
: Contraction joints

 

A3
: Weld joints

 

A4
: Both expansion joints and contraction joints

 

1.0 0.00

Objective Question
103 103 Which of the following rail section is used in narrow section?

 
A1
: 25 R

 

A2
: 30 R

 

A3 35 R

1.0 0.00
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:

 

A4
: None of these

 

Objective Question
104 104 When the rail get out of their original position due to insufficient expansion joint gap, this phenomenon is called

 
A1
: Buckling of rails.

 

A2
: Wear of rails.

 

A3
: Hogging of rails.

 

A4
: Creep of rails.

 

1.0 0.00

Objective Question
105 105 The minimum depth of ballast for meter gauge in Indian railways is_________.

 
A1
: 200 mm

 

A2
: 250 mm

 

A3
: 300 mm

 

A4
: 350 mm

 

1.0 0.00

Objective Question
106 106 Which of the following method(s) is/are used for railway plate laying?

 
A1
: Telescopic method

 

A2
: American method

 

A3
: Tramline method

 

A4
: All these

 

1.0 0.00

Objective Question
107 107 The maximum permissible speed of trains for good order track on transition curve of Radius 'R' for meter gauge

is_____________.
 
A1
:

 

A2

1.0 0.00
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:

 

A3
:

 

A4
:

 

Objective Question
108 108 Which of the following is used to change the direction of train engine?

 
A1
: Triangle

 

A2
: Traverser

 

A3
: Buffer stop

 

A4
: None of these

 

1.0 0.00

Objective Question
109 109 The rails which lead the train from the heels of the tongue rail to the toe of the crossing is called

 
A1
: Check rails.

 

A2
: Lead rails.

 

A3
: Point rails.

 

A4
: Wing rails.

 

1.0 0.00

Objective Question
110 110 Which of the following is use to check creeping of rails?

 
A1
: Anchors

 

A2
: Spikes

 

A3
: Chairs

 

A4
: Bearing plates

 

1.0 0.00

Objective Question
111 111 Which of the following term is used for pulling back of the tracks?

 
A1 Creeping

1.0 0.00
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:

 

A2
: Slewing

 

A3
: Heaved track

 

A4
: Spiking

 

Objective Question
112 112 Which of the following material is used to make fish bolts?

 
A1
: High carbon steel

 

A2
: Iron

 

A3
: Copper

 

A4
: Aluminium

 

1.0 0.00

Objective Question
113 113 The cross wind component should not exceed ________ for light weight aircrafts.

 
A1
: 15 kmph

 

A2
: 30 kmph

 

A3
: 25 kmph

 

A4
: 40 kmph

 

1.0 0.00

Objective Question
114 114 The airports can be classified on the basis of

 
A1
: take-off and landing.

 

A2
: geometric design.

 

A3
: aircraft approach speed (FAA) and function.

 

A4
: All these

 

1.0 0.00

Objective Question
115 115 Which of the following affects the site-selection of an airport site? 1.0 0.00
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A1
: Adequate access

 

A2
: Air traffic potential

 

A3
: Both adequate access and air traffic potential

 

A4
: Number of ground staff

 

Objective Question
116 116 Which of the following is used to find the orientation of the runway to get the desired wind coverage?

 
A1
: Wind Rose

 

A2
: Wind Cycle

 

A3
: Wind speed

 

A4
: Wind velocity

 

1.0 0.00

Objective Question
117 117 In which of the following conditions the preferential runways for take-off are used?

 
A1
: To reduce noise nuisance

 

A2
: For military purpose

 

A3
: In case of heavy traffic on main runaway

 

A4
: All these

 

1.0 0.00

Objective Question
118 118 The airport rigid pavements is/are designed using

 
A1
: FAA method

 

A2
: PCA method

 

A3
: Method based on Westergard's analysis

 

A4
: All these

 

1.0 0.00
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Objective Question
119 119 If 'P' is the basic length of runway, the total length of landing strip will be

 
A1
: P+120 m

 

A2
: P+110 m

 

A3
: P+100 m

 

A4
: None of these

 

1.0 0.00

Objective Question
120 120 The basic length selected for the runway should be increased at the rate of_________ per 300m elevation.

 
A1
: 7%

 

A2
: 10%

 

A3
: 15%

 

A4
: 12%

 

1.0 0.00

Objective Question
121 121 Which of the following assumption is/are taken in the calculation of basic runway length?

 
A1
: Airport altitude is at sea level

 

A2
: Temperature at the airport is standard

 

A3
: No wind is blowing on the runway

 

A4
: All these

 

1.0 0.00

Objective Question
122 122 When one of the critical engines fails, the pilot has an option to continue the run or abort the take-off after attaining a certain

speed called
 
A1
: Landing speed.

 

A2
: Take off speed.

 

A3
: Decision speed.

 

1.0 0.00
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A4
:

None of these

 

Objective Question
123 123 With respect to Railways, what is the value of Earnest Money Deposit for works estimated to cost upto Rs.1 Crore?

 
A1
: 2% of the estimated cost of the work

 

A2
: 1% of the estimated cost of the work

 

A3
: 3% of the estimated cost of the work

 

A4
: 10% of the estimated cost of the work

 

1.0 0.00

Objective Question
124 124 In case the successful tenderer is not liable to be registered under CGST/IGST/UTGST/ SGST Act, the railway shall deduct

the applicable GST from his/their bills under _________and deposit the same to the concerned authority.
 
A1
: Return Charge Mechanism

 

A2
: Return Cash Mechanism

 

A3
: Reverse Charge mechanism

 

A4
: Reverse Cash mechanism

 

1.0 0.00

Objective Question
125 125 Tenders invited from all or some contractors on the approved or select list of contractors with the railway are

called________.
 
A1
: Public Tenders

 

A2
: Open Tenders

 

A3
: Limited Tenders

 

A4
: Private Tenders

 

1.0 0.00

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Sr.
No.

Client Question
ID Question Body and Alternatives Marks Negative

Marks

Objective Question
1 1 भारत म� ज�े िकस अमे�रकी ��� ने दो अ� ���यो ंके साथ अथ�शा� िव�ान म� वष� 2019 नोबेल पुर�ार जीता?

 
A1
: िबबेक देवरॉय

 

A2
: �णब बध�न

 

A3
: अिभजीत बनज�

 

A4
: अरिवंद पानगिढ़या

 

1.0 0.00

Objective Question
2 2 िन�िल�खत म� से िकसे हाल ही म� इंिडयन ब�� एसोिसएशन (आई बी ए) का अ�� चुना गया है?

 
A1
: एस.एस. म��काजु�न राव - एम डी और सी ई ओ, पी एन बी

 

A2
: कण�म सेकर - एम डी और सी ई ओ, आई ओ बी

 

A3
: रजनीश कुमार - अ�� एस बी आई

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
3 3 जापान म� खेली गई 9वी ंपु�ष र�ी िव� कप �ितयोिगता 2019 िकस देश ने जीती?

 
A1
: इं��ड

 

A2
: �ूजील�ड

 

A3
: दि�ण अ�ीका

 

A4
: वे�

 

1.0 0.00

Objective Question
4 4 कारोबार �े� पर आधा�रत पु�क ‘द थड� िपलर : हाउ माक� ट्स ए� द �ेट लीव द क�ुिनटी िबहाइंड’’ िकसने िलखी है?

 
A1
: अिभजीत बनज�

1.0 0.00

PREVIEW QUESTION BANK
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A2
: जगदीश भगवती

 

A3
: रघुराम राजन

 

A4
: िबमल जालान

 

Objective Question
5 5 भारत म� संिवधान िदवस कब मनाया जाता है?

 
A1
: 23 नव�र

 

A2
: 24 नव�र

 

A3
: 25 नव�र

 

A4
: 26 नव�र

 

1.0 0.00

Objective Question
6 6

 
A1
: िवषुवत रेखा

 

A2
: कक�  रेखा

 

A3
: �ांितवृ� तल

 

A4
: आक� िटक वृ�

 

1.0 0.00

Objective Question
7 7 अंतररा�� ीय मा�क �णाली (SI) म� ______________ एक अ� श�� का इले���कल समतु� है।

 
A1
: 716 वाट

 

A2
: 746 वाट

 

A3
: 756 वाट

 

A4
: 776 वाट

 

1.0 0.00
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Objective Question
8 8 भारत के �तं�ता आंदोलन के दौरान साइमन कमीशन ने ___________ के िलए भारत का दौरा िकया।

 
A1
: भारत म� जवाबदेह सरकार की �गित की जांच करने

 

A2
: पािक�ान के गठन की मांग पर चचा� करने

 

A3
: मह�पूण� ऐितहािसक �थलो ंका �मण करने

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
9 9 अथ�शा� म� ‘‘उपयोिगता’’ का �ा अिभ�ाय है?

 
A1
: सुख-साधन मुहैया कराने की �मता

 

A2
: आय अिज�त करने की �मता

 

A3
: मानवीय ज�रत� पूरी करने की �मता

 

A4
: मानवीय उ�े� पूण� करने की �मता

 

1.0 0.00

Objective Question
10 10 रेमन मै�ासे पुर�ार िकस एिशयाई देश के भूतपूव� रा�� पित के नाम पर रखा गया है?

 
A1
: इंडोनेिशया

 

A2
: िसंगापुर

 

A3
: थाइल�ड

 

A4
: िफिलपी�

 

1.0 0.00

Objective Question
11 11 आरजू ने अपनी बेटी आकृित से कहा, ‘‘जब तु�ारा ज� �आ था तो उस व� म� तु�ारी वत�मानी आयु से आधी आयु की थी’’। यिद

आकृित की वत�मान आयु 42 वष� है तो जब आकृित 8 वष� की थी, उस व� आरजू की आयु िकतनी थी?
 
A1
: 31 वष�

 

A2
: 32 वष�

 

A3
: 29 वष�

 

1.0 0.00
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A4
: 23 वष�

 

Objective Question
12 12 गौरव, आिद� से नाटा पर यश से लंबा है; रोहन, यश से नाटा है; रा�ल, रोहन से लंबा है; रा�ल, आिद� से नाटा पर गौरव से लंबा है। उनम�

से कौन सबसे लंबा है?
 
A1
: रा�ल

 

A2
: यश

 

A3
: गौरव

 

A4
: आिद�

 

1.0 0.00

Objective Question
13 13 2 वष� के िलए 12% �ाज दर पर च�वृ�� �ाज और साधारण �ाज की रािशयो ंके बीच अंतर Rs.108 है। मूलधन िकतना है?

 
A1
: Rs.7,000

 

A2
: Rs.6,000

 

A3
: Rs.5,000

 

A4
: Rs.7,500

 

1.0 0.00

Objective Question
14 14 एक िपता अपने बेटे से छह गुना बड़ा है जबिक मां, बेटे से पांच गुना बड़ी है। िपता और मां की आयु का योग 77 वष� है। िपता की आयु

िकतनी है?
 
A1
: 42 वष�

 

A2
: 45 वष�

 

A3
: 36 वष�

 

A4
: 48 वष�

 

1.0 0.00

Objective Question
15 15 यिद 30 ��� िकसी काम को 20 घंटे म� कर सकते ह� तो 10 ���यो ंको इसे करने म� िकतना समय लगेगा?

 
A1
: 25 घंटे

 

A2
: 40 घंटे

1.0 0.00

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 

A3
: 54 घंटे

 

A4
: 60 घंटे

 

Objective Question
16 16 व�ी विन�यर म� विन�यर का सबसे छोटा िडिवजन, �ाथिमक �ेल के सबसे छोटे िडिवजन ________ होता है।

 
A1
: से छोटा

 

A2
: से लंबा

 

A3
: के बराबर

 

A4
: का आधा

 

1.0 0.00

Objective Question
17 17 िन�िल�खत म� से �ा �ोबल पोिजशिनंग िस�म (जी पी एस) का एक खंड नही ंहै?

 
A1
: �ेस खंड

 

A2
: ऑपरेशनल खंड

 

A3
: �यो�ा उप�र खंड

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
18 18 �थैितक जी पी एस

 
A1
: के िलए कम से कम तीन �रसीवर अपेि�त होते ह�

 

A2
: के िलए कम से कम दो �रसीवर अपेि�त होते ह�

 

A3
: म� एक ��थर और एक चलायमान �रसीवर होता है

 

A4
: म� दो चलायमान �रसीवर होते ह�

 

1.0 0.00

Objective Question
19 19 जी पी एस सेटेलाइट दो वाहक तरंग� �सा�रत करते ह� जो :

 
A1
: कूटब� सूचना िसगनल �ारा मॉडुिलत होती ह�

1.0 0.00
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A2
: रेिडयो तरंग� होती ह�

 

A3
: �काश की चाल से गमन करती ह�

 

A4
: ये सभी

 

Objective Question
20 20 मा� समु�ी �र पर ऊ�� कोणो ंऔर भूगिणतीय लंबाइयो ंसे �ेशनो ंके उ�यनो ंका िनधा�रण _____________ कहलाता है।

 
A1
: ि�कोणिमतीय समतलन

 

A2
: ि�भुजन (ि�कोणीयन)

 

A3
: अनुमाग� सव��ण

 

A4
: जलारेखीय सव��ण

 

1.0 0.00

Objective Question
21 21 ि�कोणिमतीय समतलन म� अपवत�न और व�ता की वजह से संशोधन की माप _______________ की जाती है।

 
A1
: कोणीय माप म�

 

A2
: रै�खक माप म�

 

A3
: पुनरावृि�क �प से

 

A4
: आलेखी �प से

 

1.0 0.00

Objective Question
22 22 ि�भुजन (ि�कोणीयन) प�ित के िलए आदश� ि�भुज (ि�कोण) समि�बा� ि�भुज (ि�कोण) होता है िजसका आधार कोण होता है :

 
A1
: 56o 14'

 

A2
: 46o 14'

 

A3
: 66o 14'

 

A4
: 36o 24'

 

1.0 0.00

Objective Question
23 23 ____________ का समो� रेखी मानिच� तैयार करने के िलए टैकीिमतीय िविध सबसे उपयु� होती है। 1.0 0.00
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A1
: घाटी

 

A2
: पहाड़ी

 

A3
: नदी

 

A4
: समतल �े�ो ं(मैदानो)ं

 

Objective Question
24 24 समतल सतह� ______________ �ारा िदखाई जाती ह�।

 
A1
: भीतर उ�तर मानो ंके साथ बंद समो� रेखाओं

 

A2
: बाहर उ�तर मानो ंके साथ बंद समो� रेखाओं

 

A3
: सीधी समांतर और काफी फैली �ई समो� रेखाओ ंकी एक �ंृखला

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
25 25 िन�िल�खत म� से िकस सव��ण म� मृदा सव��ण शािमल होता है?

 
A1
: �ारंिभक सव��ण

 

A2
: अंितम �थल सव��ण

 

A3
: टोह

 

A4
: मानिच� अ�यन

 

1.0 0.00

Objective Question
26 26 िन�िल�खत म� से िकसम� सव��ण �ौरे मोटे तौर पर शािमल िकए जाते ह� िकंतु प�रशु� (सटीक) तौर पर नही?ं

 
A1
: टोह

 

A2
: मानिच� अ�यन

 

A3
: िव�ृत अ�यन

 

A4
: हवाई सव��ण

 

1.0 0.00
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Objective Question
27 27 अिनयिमत और वि�त प�रसीमा का �े�फल _____________ का �योग करते �ए कारगर तरीके से आकिलत िकया जाता है।

 
A1
: िस�सन िविध

 

A2
: समलंबी िविध

 

A3
: वेड़ल िविध

 

A4
: औसत कोिट िविध

 

1.0 0.00

Objective Question
28 28 वह व� (मोड़) िजसम� एक ही िदशा म� मुड़ रहे दो या अिधक साधारण वृ�ाकार चाप होते ह� जो उभय �श�रेखा िबंदु पर जुड़ते ह�,

_______________ व� (मोड़) कहलाता है।
 
A1
: यौिगक

 

A2
: साधारण

 

A3
: उ�म

 

A4
: चं�म

 

1.0 0.00

Objective Question
29 29 जलारेखीय सव��ण म� �वो ंका �योग _________________ के िलए िकया जाता है।

 
A1
: स�रता के औसत वेग की माप करने

 

A2
: लंबन अंतर की माप करने

 

A3
: हवाई िच� अंिकत करने

 

A4
: तट िसगनल का पता लगाने

 

1.0 0.00

Objective Question
30 30 �रमोट स��िसंग सेटेलाइट से �ा� छिव (इमेज) म� धु� का �ाथिमक कारण िन�िल�खत म� से �ा होता है?

 
A1
: रेले �कीण�न

 

A2
: कॉ�टन �कीण�न

 

A3
: रमण �कीण�न

 

1.0 0.00
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A4
: इनम� से कोई नही ं

 

Objective Question
31 31 िकसी मृदा की िनवल परम धारण �मता 35 Y/m2 और घन� 1.8 Y/m2 है। जमीन की सतह से 1 मीटर नीचे सुरि�त धारण �मता �ा

होगी (सुर�ा गुणक 3.5 है )?
 
A1
: 11.8 Y/m2

 

A2
: 21.8 Y/m2

 

A3
: 17.8 Y/m2

 

A4
: 12.8 Y/m2

 

1.0 0.00

Objective Question
32 32 �ोक के िनयम का �योग ______________ का िनधा�रण करने के िलए िकया जाता है।

 
A1
: मृदा के िविश� गु��

 

A2
: �र�� (शू�) वायु अनुपात

 

A3
: मृदा का कण साइज िवतरण

 

A4
: मृदा म� जल अंश

 

1.0 0.00

Objective Question
33 33 �योगशाला अिधकतम शु� इकाई भार से मैदान शु� इकाई भार का अनुपात __________ कहलाता है।

 
A1
: आपेि�क संहनन

 

A2
: आपेि�क घन�

 

A3
: �र�� घन�

 

A4
: वायु घन�

 

1.0 0.00

Objective Question
34 34 एक मृदा नमूने म� �ाकृितक नमी अंश 40%, तरल सीमा 60% और �ा��क सीमा 30% है। इस नमूने की सघनता होगी :

 
A1
: 0.33

 

A2
: 0.25

1.0 0.00
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A3
: 1

 

A4
: 0

 

Objective Question
35 35 बरमा (ऑगर) बो�रंग

 
A1
: हाथ से िड� ल करके बोर करने की सबसे सरल िविध है

 

A2
: अिधक उथली गहराई के िलए �योग की जा सकती है

 

A3
: आम तौर पर 5 मी. तक की गहराई के िलए �योग की जाती है

 

A4
: ये सभी

 

1.0 0.00

Objective Question
36 36 मानक वेधन परी�ण ____________ म� िकया जाता है।

 
A1
: लगभग 55 से 150 िममी. �ास वाले एक साफ िछ�

 

A2
: िछ� िजसके बगलो ंम� केिसंग या िड� िलंग पंक से टेक दी गई है

 

A3
: िछ� िजसके बगलो ंम� टेक नही ंदी गई है

 

A4
: लगभग 55 से 150 िममी. �ास वाले एक साफ िछ� और िछ� िजसके बगलो ंम� केिसंग या िड� िलंग पंक से टेक दी गई है

 

1.0 0.00

Objective Question
37 37 मृदा (�ाकृितक) के िव�ु� �ितदश� म�

 
A1
: मृदा की संरचना अ�भािवत रहती है

 

A2
: मृदा की संरचना अंशतः या पूण�तः �पांत�रत हो जाती है

 

A3
: जल अंश संरि�त हो सकते ह� और इसे बरमा (ऑगर) �ारा सीधे उ�नन से �ा� िकया जा सकता है

 

A4
:

मृदा की संरचना अंशतः या पूण�तः �पांत�रत हो जाती है और जल अंश संरि�त हो सकते ह� और इसे बरमा (ऑगर) �ारा सीधे
उ�नन से �ा� िकया जा सकता है

 

1.0 0.00

Objective Question
38 38 एकल यूिनट को लोड की कई सारी फुिटंग को सपोट� (टेक) देने वाली नीवं (फाउंडेशन) जो समूचे लोड डले भाग को कवर करती है,

______________ नीवं (फाउंडेशन) कहलाती है।
 
A1 चाटी (रै�)

1.0 0.00
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:

 

A2
: ��� प

 

A3
: संयु�

 

A4
: उथली (शैलो)

 

Objective Question
39 39 नीवं (फाउंडेशन) को िडज़ाइन करने म� �मुख िनकष �ा है/ह�?

 
A1
: �थान और गहराई िनकष

 

A2
: अप�पण पात िनकष

 

A3
: ��थरण िनकष

 

A4
: ये सभी

 

1.0 0.00

Objective Question
40 40 िन�िल�खत म� से �ा पाइल फाउंडेशन (पंुज नीवं) की एक िक� नही ंहै?

 
A1
: एंड िबय�रंग पाइल

 

A2
: ि��न पाइल

 

A3
: कॉ�ै�न पाइल

 

A4
: ब� पाइल

 

1.0 0.00

Objective Question
41 41 ढाल (�ोप) के �थािय� का िव�ेषण करने म� �यु� सुर�ा गुणक िन�िल�खत म� से �ा है?

 
A1
: संसंजन

 

A2
: ऊंचाई

 

A3
: अप�पण साम��

 

A4
: ये सभी

 

1.0 0.00

Objective Question
42 42 1.0 0.00
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ढाल के पात की संभािवत िक� है
 
A1
: गभीरता (डे�थ) पात

 

A2
: शीष� (टॉप) पात

 

A3
: बेिसक पात

 

A4
: संधान संिध (टो) पात

 

Objective Question
43 43 धारक िभि�यां आम तौर पर _____________ के िलए िडज़ाइन की जाती ह�।

 
A1
: सि�य भू दाब

 

A2
: िन��य भू दाब

 

A3
: वायु दाब से बचने

 

A4
: गु�� का �ितरोध करने

 

1.0 0.00

Objective Question
44 44 वांिछत गभीरता तक एक भारी कंपनशील पोकर डालकर कणमय मृदा का घन� बढ़ाने की तकनीक ______________ कहलाती है।

 
A1
: शु�गितक �वन

 

A2
: कंपन-�वन

 

A3
: �थैितक �वन

 

A4
: संसंजन

 

1.0 0.00

Objective Question
45 45 मृदा �ढ़ीकरण

 
A1
: म� कमजोर मृदा म� �ढ़ीकारको ं(बंधक साम�ी) का �योग शािमल होता है

 

A2
: इसकी संपी�ता और साम�� बढ़ाने के िलए �योग िकया जाता है

 

A3
: इसकी पारग�ता और िचर�थािय� बढ़ाने के िलए �योग िकया जाता है

 

A4
: ये सभी

1.0 0.00
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Objective Question
46 46 िकसी इमारत के ��ंथ ए�रया (कुस� �े�) म� ____________ शािमल नही ंहोता।

 
A1
: तल (फश�) �र पर िभि�यो ं(दीवारो)ं का �े�

 

A2
: साफ-सफाई से जुड़े सं�थापनो ंके िलए आंत�रक कूपक (शै�)

 

A3
: ल��िडंग सिहत िल� और दीवार

 

A4
: क� �िटलीवर �द� पोच� का �े�

 

1.0 0.00

Objective Question
47 47 िन�िल�खत म� से कौन-सा कथन गलत है?

 
A1
: �ा��रंग की माप घन मीटर म� की जाती है

 

A2
: �ेज़न की माप वग� मीटर म� की जाती है

 

A3
: �बलन �ारा घेरे गए �े� के िलए कोई कटौती नही ंकी जाती

 

A4
: 0.1 वग� मीटर तक की ओपिनंग के िलए कोई कटौती नही ंकी जाती

 

1.0 0.00

Objective Question
48 48 आकलन की लंबी और छोटी िभि� िविध म� लंबी िभि� की लंबाई िभि�यो ंके बीच के� से के� तक की दूरी और िभि� की चौड़ाई

______________ के �प म� प�रभािषत की जाती है।
 
A1
: दो ितहाई

 

A2
: आधी

 

A3
: तीन चौथाई

 

A4
: एक चौथाई

 

1.0 0.00

Objective Question
49 49 यिद मू� �र म� प�रवत�न के साथ सं�ीकृत आकलन ______________ अिधक हो जाता है तो एक संशोिधत आकलन की आव�कता

उ�� होती है।
 
A1
: 5%

 

A2
: 10%

 

A3 7.5%

1.0 0.00
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:

 

A4
: 12.5%

 

Objective Question
50 50 काय� की मद िवशेष की दर�  ____________ पर िनभ�र करती ह�।

 
A1
: काय� के िविनद�शन और साम�ी

 

A2
: साम�ी की गुणव�ा

 

A3
: काय��थल की जगह और साम�ी के �ोत से इसकी दूरी

 

A4
: ये सभी

 

1.0 0.00

Objective Question
51 51 अपेि�त मजदूरो ंऔर साम�ी की वा�िवक सं�ा/मा�ा के आधार पर काय� की िकसी मद की लागत अथवा मू� िनधा��रत करने की

�ि�या सूिचत करने के िलए �यु� श� ह� :
 
A1
: िदन काय�

 

A2
: ि�तीय काय�

 

A3
: मूल लागत

 

A4
: �िमक काय�

 

1.0 0.00

Objective Question
52 52 ि�तीय �ेणी की इमारत म� वषा� जल के िलए िकस िक� की पाइप का �योग िकया जाता है?

 
A1
: पाइराइट प�रस��त प�ट की �ई

 

A2
: ढलवां लोहा प�रस��त प�ट की �ई

 

A3
: ता� प�रस��त प�ट की �ई

 

A4
: �ील प�रस��त प�ट की �ई

 

1.0 0.00

Objective Question
53 53 अप�पण िवकृित से अप�पण �ितबल का अनुपात _______________ कहलाता है।

 
A1
: यंग का गुणांक

 

1.0 0.00
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A2
:

अप�पण गुणांक

 

A3
: �ढ़ता गुणांक

 

A4
: या तो अप�पण गुणांक या �ढ़ता गुणांक

 

Objective Question
54 54 खंड के दोनो ंम� से िकसी भी तरफ सभी बलो ंका बीजीय योग _____________ कहलाता है।

 
A1
: बंकन आघूण�

 

A2
: अप�पण बल

 

A3
: अप�पण �ितबल

 

A4
: अप�पण िवकृित

 

1.0 0.00

Objective Question
55 55 जब क� �िटलीवर के मु� (�तं�) िसरे पर लोड बढ़ाया जाता है तो पात ______________ उ�� होगा।

 
A1
: बंधे िसरे पर

 

A2
: मु� (�तं�) िसरे पर

 

A3
: बीच म�

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
56 56 अपने के� पर लोड डाली गई साधारण टेक दी गई बीम के िलए बंकन आघूण� आरेख एक __________ होता है।

 
A1
: समि�बा� ि�भुज

 

A2
: समबा� ि�भुज

 

A3
: आयत

 

A4
: वग�

 

1.0 0.00

Objective Question
57 57 बीमो ंम� िवकिसत (उ��) अिधकतम अप�पण �ितबल औसत अप�पण �ितबल का/के _________ होता है।

 

1.0 0.00
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A1
:

1.5 गुना

 

A2
: दो गुना

 

A3
: आधा

 

A4
: बराबर

 

Objective Question
58 58 एक अ�ीय संपी� बल डाला गया ढांचाब� घटक _____________ कहलाता है।

 
A1
: आलंबन �ंभ

 

A2
: अप�पण आघूण�

 

A3
: अप�पण �ितबल

 

A4
: बंकन आघूण�

 

1.0 0.00

Objective Question
59 59 जब िकसी खंभे पर एक उ�� �क भार डाला जाता है तो खंभे म� �े�रत �ितबल होता है :

 
A1
: अप�पण �ितबल

 

A2
: बंकन �ितबल

 

A3
: ��� �ितबल

 

A4
: बंकन �ितबल और ��� �ितबल दोनों

 

1.0 0.00

Objective Question
60 60 िन�िल�खत म� से �ा संरचना�क िव�ेषण की मैिट�� िविध है?

 
A1
: न�ता िविध

 

A2
: दुन��ता िविध

 

A3
: िव�थापन िविध

 

A4
: ये सभी

 

1.0 0.00

Objective Question
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61 61 �भाव रेखा आरेख िन�िल�खत म� से िकस �मेय पर आधा�रत होता है?
 
A1
: �ु�म �मेय

 

A2
: एडी �मेय

 

A3
: बरनूली �मेय

 

A4
: अिधकतम लोड �मेय

 

1.0 0.00

Objective Question
62 62 िकसी बीम के िलए अप�पण बल आरेख _________ है तो बंकन आघूण� आरेख के __________ होने की संभावना होगी।

 
A1
: रै�खक, परवलय

 

A2
: रै�खक, ि�रै�खक

 

A3
: परवलय, परवलय

 

A4
: रै�खक, रै�खक

 

1.0 0.00

Objective Question
63 63 RCC ढांचा िडज़ाइन करने की कौन-सी िविध ��ा�थ िविध कहलाती है?

 
A1
: ि�याशील �ितबल िविध

 

A2
: परम लोड िविध

 

A3
: सीमा अव�था िविध

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
64 64 बंकन के ��ा�थ िस�ांत (RCC म� अनु�यु�) म� िन�िल�खत म� से �ा एक अिभधारणा है?

 
A1
: कं�ीट का ��ा�थता गुणांक सभी �ितबलो ंपर अचर होता है

 

A2
: �ील �बलन आरंिभक �ितबलो ंसे मु� होता है

 

A3
: तनन �ितबल अकेले �बलन से िलए जाते ह�

 

A4
: ये सभी

1.0 0.00
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Objective Question
65 65 RCC के िडज़ाइन की िन�िल�खत म� से कौन-सी िविध लोड गुणक (फै�र) िविध कहलाती है?

 
A1
: ि�याशील �ितबल िविध

 

A2
: सीमा अव�था िविध

 

A3
: परम �ितबल िविध

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
66 66 RC �ैब के मु� सु�ढ़ीकरण म� 10 सेमी. के अंतरालन पर 10 िममी. की छड़� शािमल ह�। यिद 10 िममी. की छड़ो ंकी जगह 13 िममी. की

छड़� रखनी ह� तो नया अंतरालन होगा :
 
A1
: 16.9 सेमी.

 

A2
: 13 सेमी.

 

A3
: 10 सेमी.

 

A4
: 20 सेमी.

 

1.0 0.00

Objective Question
67 67 िकसी �बिलत कं�ीट खंड के िलए अप�पण �ितबल आरेख की आकृित होती है :

 
A1
: पूण�तः परवलयी

 

A2
: दीघ�वृ�ीय

 

A3
: आयताकार

 

A4
: सीधी रेखा

 

1.0 0.00

Objective Question
68 68 बीमो ंम� िवकण� तनाव

 
A1
: उदासीन अ� के नीचे बढ़ता है और उदासीन अ� के ऊपर घटता है

 

A2
: समूचे भाग म� समान रहता है

 

A3 उदासीन अ� पर अिधकतम रहता है

1.0 0.00
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:

 

A4
: इनम� से कोई नही ं

 

Objective Question
69 69 साधारण मृदु इ�ात की छड़ की तुलना म� मुड़ी �ई छड़ का पराभव �ितबल ____________ होता है।

 
A1
: 10% कम

 

A2
: 50% अिधक

 

A3
: 20% कम

 

A4
: 20% अिधक

 

1.0 0.00

Objective Question
70 70 िकसी �ैब म� अनु��थ �बलन �ैब की िव�ृित के ______________ कोण पर िदया जाता है।

 
A1
: 30o

 

A2
: 60o

 

A3
: 90o

 

A4
: 45o

 

1.0 0.00

Objective Question
71 71 िकसी बीम म� िवकण� तनाव �बलन िन�िल�खत म� से िकस तरीके से िदया जाता है?

 
A1
: अनुदै�� छड़(बार)

 

A2
: ब�ट अप बार

 

A3
: अनुदै�� छड़(बार) और ब�ट अप बार दोनों

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
72 72 अचर (��थर) िवकृित पर �ील म� समय के साथ �ितबल का �ास _____________ कहलाता है।

 
A1
: बंकन आघूण�

 

A2 अप�पण �ितबल
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:

 

A3
: अप�पण आघूण�

 

A4
: िव�ांित

 

Objective Question
73 73 ि�याशील �ितबल िविध �ारा िडज़ाइन िकए गए िकसी �ंभ की लोड वहन �मता 600 kN है, तो उस �ंभ का िनपात लोड िकतना होगा?

 
A1
: 900 kN

 

A2
: 750 kN

 

A3
: 800 kN

 

A4
: 500 kN

 

1.0 0.00

Objective Question
74 74 जब �ील की छड़� कं�ीट म� जड़ी (अंतः �थािपत) होती ह� तो �ढ़ (सेट) होने के बाद कं�ीट छड़ को खीचंने या ध�ा देने वाले िकसी भी

बल का �ितरोध करती है। इस आसंजक बल की ती�ता ____________ कहलाती है।
 
A1
: आबंध �ितबल

 

A2
: आबंध लंबाई

 

A3
: आबंध �म

 

A4
: आबंध अप�पण

 

1.0 0.00

Objective Question
75 75 �ील और कं�ीट के बीच बंधन मु�तः ________________ की वजह से होता है।

 
A1
: िवशु� आसंजक �ितरोध

 

A2
: घष�णी �ितरोध

 

A3
: यांि�क �ितरोध

 

A4
: ये सभी

 

1.0 0.00

Objective Question
76 76 पूव� �ितबिलत कं�ीट म� �बलन का �योजन होता है।

 

1.0 0.00
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A1
:

पया�� �ितबल �दान करना

 

A2
: तनन �ितबल का �ितरोध करना

 

A3
: आरंिभक संपी� �ितबल देना

 

A4
: साम�� �दान करना

 

Objective Question
77 77 पूव� तनाव �द� बीमो ंम� पूव� �ितबलन �ास होते ह� :

 
A1
: 15%

 

A2
: 20%

 

A3
: 30%

 

A4
: 25%

 

1.0 0.00

Objective Question
78 78 ‘L’ लंबाई की �ील बीम म� अिधकतम िव�ेपण _______________ तक सीिमत होता है।

 
A1
: L/100

 

A2
: L/200

 

A3
: L/325

 

A4
: L/4006

 

1.0 0.00

Objective Question
79 79 ____________ बीम तल �ैब के साथ-साथ िभि� से भी लोड को टेक देती है।

 
A1
: िल�ेल

 

A2
: ��� �जर

 

A3
: �ै�� ेल

 

A4
: हेडर

 

1.0 0.00

Objective Question
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80 80 लेिसंग छड़ (बार) का कृशता अनुपात ___________ से अिधक नही ंहोना चािहए।
 
A1
: 120

 

A2
: 145

 

A3
: 70

 

A4
: 75

 

1.0 0.00

Objective Question
81 81 10 िममी. मोटाई वाले िकसी िह�े के िफलेट वे� का �ूनतम आकार ____________ होता है।

 
A1
: 1 िममी.

 

A2
: 2 िममी.

 

A3
: 3 िममी.

 

A4
: 5 िममी.

 

1.0 0.00

Objective Question
82 82 ब� वे� के िलए अनुमेय �ितबल जनक(मूल) धातु ____________ होता है।

 
A1
: के अनुमेय �ितबल के बराबर

 

A2
: के अनुमेय �ितबल से कम

 

A3
: के अनुमेय �ितबल से अिधक

 

A4
: के िलए अनुमेय �ितबल का आधा

 

1.0 0.00

Objective Question
83 83 िन�िल�खत म� से �ा एक तनाव घटक नही ंहै?

 
A1
: वायर

 

A2
: केिबल

 

A3
: रॉड

 

A4
: कॉलम

1.0 0.00
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Objective Question
84 84 �भावी िनवल �े�फल पर अ�ीय तनाव म� ��� �ितबल ____________ से अिधक नही ंहोना चािहए

(जहां σy �ील का �ूनतम पराभव �ितबल N/mm2 म� है)।

 
A1
:

0.96 σy

 

A2
:

0.6 σy

 

A3
:

0.86 σy

 

A4
:

0.76 σy

 

1.0 0.00

Objective Question
85 85 अ�ीय �प से लोड डले तनाव घटक को िडज़ाइन करने म� अपेि�त िनवल प�र�ेदी �े�फल होता है।

 
A1
:

 

A2
:

 

A3
:

 

A4
:

 

1.0 0.00

Objective Question
86 86 �ेट गड�र का िन�िल�खत म� से कौन-सा घटक बंकन आघूण� का �ितरोध करने के िलए िडज़ाइन िकया जाता है?

 
A1
: ��ज

 

A2
: वेब

 

A3
: ��ज और वेब दोनों

 

A4
: वेब सं�ढ़क

 

1.0 0.00

Objective Question
87 87 िन�िल�खत म� से �ा वे� की िक� है?

 
A1
: लैप

 

A2

1.0 0.00
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: ब�
 

A3
: �ग

 

A4
: ये सभी

 

Objective Question
88 88 खुले सपाट भू-भाग पर रा�� ीय राजमाग� के िलए अपेि�त जमीन की सामा� लंबाई होती है :

 
A1
: 55 मीटर

 

A2
: 30 मीटर

 

A3
: 45 मीटर

 

A4
: 25 मीटर

 

1.0 0.00

Objective Question
89 89 िकसी मृदा का समूह सूचकांक ____________ के बीच पड़ता है।

 
A1
: 0 और 10

 

A2
: 0 और 20

 

A3
: 0 और 30

 

A4
: 0 और 8

 

1.0 0.00

Objective Question
90 90 मृदा के साम�� का मू�ांकन करने के िलए िन�िल�खत म� से कौन-सा परी�ण िकया जाता है?

 
A1
: वेधन परी�ण

 

A2
: बेय�रंग परी�ण

 

A3
: अप�पण परी�ण

 

A4
: ये सभी

 

1.0 0.00

Objective Question
91 91 चालक का कुल �िति�या काल (समय) होता है :

 
A1 अवबोध समय और �ेक �िति�या समय का योग

1.0 0.00
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:

 

A2
: अवबोध समय और �ेक �िति�या समय का अंतर

 

A3
: �ेक लगाने और वाहन के �कने के बीच का समय

 

A4
: इनम� से कोई नही ं

 

Objective Question
92 92 �ेक लगाने के बाद पूण� िवराम अव�था म� आने तक वाहन �ारा तय की गई दूरी ____________ होती है (जहां V चाल, g गु�� की वजह

से होने वाला �रण और f घष�ण गुणांक है)।
 
A1
: �ेिकंग दूरी

 

A2
: V2/2gf के बराबर

 

A3
: V2/2f के बराबर

 

A4
: �ेिकंग दूरी और V2/2gf के बराबर

 

1.0 0.00

Objective Question
93 93 सपाट और ऊिम�ल भूभाग पर IRC �ारा िसफा�रश की गई �िलंग �ैिडएंट (�वणता) �ा होती है?

 
A1
: 20 म� 1

 

A2
: 25 म� 1

 

A3
: 16.7 म� 1

 

A4
: 30 म� 1

 

1.0 0.00

Objective Question
94 94 पंुज (ऐि�गेट) होते ह� :

 
A1
: सड़को ंके िलए �यु� िकसी िम�ण की मु� संरचना बनाने वाले अि�य साम�ी टुकड़े और कण

 

A2
: सड़क का अपे�ाकृत बड़ा िह�ा बनने वाली साम�ी जो सड़क म� उ�� होने वाले मु� �ितबल को सहन करती ह�

 

A3
: सड़क का छोटा िह�ा बनने वाली साम�ी जो सड़क म� उ�� होने वाला कोई �ितबल सहन नही ंकरती

 

A4
:

सड़को ंके िलए �यु� िकसी िम�ण की मु� संरचना बनाने वाले अि�य साम�ी टुकड़े और कण और सड़क का अपे�ाकृत बड़ा
िह�ा बनने वाली साम�ी जो सड़क म� उ�� होने वाले मु� �ितबल को सहन करती ह� दोनों

 

1.0 0.00
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Objective Question
95 95 कठोरता गुणांक का िनधा�रण करने के िलए िन�िल�खत म� से कौन-सा परी�ण िकया जाता है?

 
A1
: डॉरी का अपघष�ण परी�ण

 

A2
: संघ� परी�ण

 

A3
: आरोपण परी�ण

 

A4
: संदलन साम�� परी�ण

 

1.0 0.00

Objective Question
96 96 अ�ा� (िबटुमेन) होता है :

 
A1
: या तो �ाकृितक या पाइरोजेनस उ�ि� की एक हाइड� ोकाब�न साम�ी

 

A2
: काब�न डाई स�ाइड म� पूण�तः घुलनशील

 

A3
: जिटल काब�िनक यौिगक

 

A4
: ये सभी

 

1.0 0.00

Objective Question
97 97 सड़को ंके िनमा�ण म� �यु� सीम�ट म�

 
A1
: मै�ीिशया अिनवाय� �प से 5% से कम होनी चािहए

 

A2
: स�र अंश अिनवाय� �प से 2.75% से कम होना चािहए

 

A3
: घुलनशील अविश� 1.5% से अिधक नही ंहोना चािहए

 

A4
: ये सभी

 

1.0 0.00

Objective Question
98 98 लचीली कुि�म की िडज़ाइन _____________ के आधार पर वग�कृत की जा सकती है।

 
A1
: मृदा वग�करण

 

A2
: िन�ादन सेवायो�ता संक�ना

 

A3
: �ितबल/िवकृित अिभल�णो ंके गिणतीय िव�ेषण

 

A4
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https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


: ये सभी
 

Objective Question
99 99 अनुदै�� जलिनकास मुहैया कराने के िलए लचीली कुि�म के िलए ___________ की एक �ूनतम �वणता वांिछत होती है।

 
A1
: 250 म� 1

 

A2
: 300 म� 1

 

A3
: 400 म� 1

 

A4
: 250 म� 2

 

1.0 0.00

Objective Question
100 100 यिद सड़क पर �ितिदन �ावसाियक वाहनो ंकी सं�ा 100 है तो यातायात की मा�ा ____________ के �प म� वग�कृत की जाती है।

 
A1
: ह�ी

 

A2
: म�म

 

A3
: भारी

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
101 101 िन�िल�खत म� से �ा एक शानदार बेस साम�ी की गुणता की तुलना म� कमजोर �ेड की साम�ी की गुणता के बारे म� संकेत देता है?

 
A1
: यो�ता आंकड़ा

 

A2
: �र�� अनुपात

 

A3
: िविश� आयतन

 

A4
: कैिलफोिन�या बेय�रंग अनुपात िविध दोनों

 

1.0 0.00

Objective Question
102 102 तापमान �ितबल घटाने के िलए सीम�ट कं�ीट कुि�म म� िन�िल�खत म� से कौन-सी संिध (जोड़) �दान की जाती है?

 
A1
: िव�ार संिध

 

A2
: संकुचन संिध

 

A3 वे� संिध
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https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


:

 

A4
: िव�ार संिध और संकुचन संिध दोनों

 

Objective Question
103 103 संकीण� खंड (नैरो से�न) म� िन�िल�खत म� से कौन-सा रेल खंड �योग िकया जाता है?

 
A1
: 25 R

 

A2
: 30 R

 

A3
: 35 R

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
104 104 जब अपया�� िव�ार संिध (जोड़) अंतराल की वजह से रेल अपनी मूल अव�था से बाहर चली जाती है तो यह प�रघटना

________________ कहलाती है।
 
A1
: रेलो ंका आकंुचन

 

A2
: रेलो ंका िघसना

 

A3
: रेलो ंका कतरना

 

A4
: रेलो ंका िवसप�ण

 

1.0 0.00

Objective Question
105 105 भारतीय रेल म� मीटर गेज के िलए धारा ��थरक (बैला�) की �ूनतम गहराई होती है :

 
A1
: 200 िममी.

 

A2
: 250 िममी.

 

A3
: 300 िममी.

 

A4
: 350 िममी.

 

1.0 0.00

Objective Question
106 106 रेलवे �ेट डालने के िलए िन�िल�खत म� से िकस िविध का �योग िकया जाता है?

 
A1
: टेिल�ोपी िविध
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A2
:

अमे�रकी िविध

 

A3
: ट� ैमलाइन िविध

 

A4
: ये सभी

 

Objective Question
107 107 मीटर गेज के िलए ‘R’ ि��ा के सं�मण व�(मोड़) पर अ�े �र की ट� ैक के िलए ट� ेनो ंकी अिधकतम अनुमेय चाल होती है :

 
A1
:

 

A2
:

 

A3
:

 

A4
:

 

1.0 0.00

Objective Question
108 108 ट� ेन इंजन की िदशा प�रवित�त करने के िलए टिम�नल याड� म� सामा�तया िन�िल�खत म� से िकसका �योग िकया जाता है?

 
A1
: ट� ाएंगल

 

A2
: ट� ैवस�र

 

A3
: बफर �ॉप

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
109 109 टंग रेल की हील से �ॉिसंग के टो तक ट� ेन को लीड करने वाली रेल _____________ रेल कहलाती है।

 
A1
: चेक

 

A2
: लीड

 

A3
: पॉइंट

 

A4
: िवंग

 

1.0 0.00

Objective Question
110 110 रेलो ंके िवसप�ण को रोकने के िलए िन�िल�खत म� से िकसका �योग िकया जाता है?

 

1.0 0.00
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A1
:

एंकर

 

A2
: �ाइक

 

A3
: चेयर

 

A4
: बेय�रंग �ेट

 

Objective Question
111 111 ट� ैक को पीछे खीचंने (पुल बैक करने) के िलए �यु� श� है :

 
A1
: �ीिपंग

 

A2
: �ीयूइंग

 

A3
: ही�ड ट� ैक

 

A4
: �ाइिकंग

 

1.0 0.00

Objective Question
112 112 िफश बो� बनाने के िलए िन�िल�खत म� से िकस साम�ी का �योग िकया जाता है?

 
A1
: उ� काब�न �ील

 

A2
: लोहा

 

A3
: तांबा

 

A4
: ऐलुिमिनयम

 

1.0 0.00

Objective Question
113 113 ह�े वजन वाले वायुयानो ंके िलए �ॉस पवन कारक _______________ से अिधक नही ंहोना चािहए।

 
A1
: 15 िकमी. �ित घंटा

 

A2
: 30 िकमी. �ित घंटा

 

A3
: 25 िकमी. �ित घंटा

 

A4
: 40 िकमी. �ित घंटा

 

1.0 0.00

Objective Question
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114 114 हवाई अ�े (िवमान प�न) _______________ के आधार पर वग�कृत िकए जा सकते ह�।
 
A1
: टेक-ऑफ और ल��िडंग

 

A2
: �ािमतीय िडज़ाइन

 

A3
: वायुयान उपगमन (ए�ोच) चाल (FAA) और �काय�

 

A4
: ये सभी

 

1.0 0.00

Objective Question
115 115 िन�िल�खत म� से �ा िकसी हवाई अ�े के िलए �थान के चयन को �भािवत करता है?

 
A1
: पया�� प�ंच

 

A2
: हवाई यातायात संभावना

 

A3
: पया�� प�ंच और हवाई यातायात संभावना दोनों

 

A4
: �ाउंड �ाफ की सं�ा

 

1.0 0.00

Objective Question
116 116 वांिछत पवन �ा�� (कवरेज) पाने के िलए रनवे का अिभ�ास पता करने के िलए पवन _________ का �योग िकया जाता है।

 
A1
: रोज़

 

A2
: च�

 

A3
: चाल

 

A4
: वेग

 

1.0 0.00

Objective Question
117 117 िन�िल�खत म� से िकस प�र��थित म� टेक-ऑफ के िलए तरजीही रनवे का �योग िकया जाता है?

 
A1
: शोर(रव) बाधाओ ंको कम करने

 

A2
: सै� �योजनो ंके िलए

 

A3
: मु� रनवे पर भारी यातायात की ��थित म�

 

A4
: ये सभी

1.0 0.00
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Objective Question
118 118 हवाई अ�ो ंपर �ढ़ कुि�म ______________ का �योग करके िडज़ाइन िकया जाता है।

 
A1
: FAA िविध

 

A2
: PCA िविध

 

A3
: व�रगाड� िव�ेषण पर आधा�रत िविध

 

A4
: ये सभी

 

1.0 0.00

Objective Question
119 119 यिद रनवे की बेिसक लंबाई ‘P’ है तो ल��िडंग प�ी (��� प) की कुल लंबाई होगी :

 
A1
: P+120 मी.

 

A2
: P+110 मी.

 

A3
: P+100 मी.

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
120 120 रनवे के िलए चयिनत बेिसक लंबाई �ित 300 मीटर उ�यन ____________ की दर पर बढ़ाई जानी चािहए।

 
A1
: 7%

 

A2
: 10%

 

A3
: 15%

 

A4
: 12%

 

1.0 0.00

Objective Question
121 121 बेिसक रनवे लंबाई के प�रकलन म� िन�िल�खत म� से �ा पूवा�नुमान (अिभधारणा) िलया जाता है?

 
A1
: हवाई अ�ा उ�तांश समु� �र पर है

 

A2
: हवाई अ�े पर ताप�म मानक है

 

A3
: रनवे पर कोई हवा (पवन) नही ंचल रही है

1.0 0.00
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A4
: ये सभी

 

Objective Question
122 122 जब संकटाप� इंजनो ंम� से एक फेल हो जाता है तो पायलट के पास एक िनि�त चाल �ा� करने के बाद रन जारी रखने या टेक-ऑफ बीच

म� बंद करने का एक िवक� होता है िजसे ___________ चाल कहा जाता है।
 
A1
: ल��िडंग

 

A2
: टेक-ऑफ

 

A3
: िनण�य

 

A4
: इनम� से कोई नही ं

 

1.0 0.00

Objective Question
123 123 रेलवे के संबंध म�, Rs.1 करोड़ तक की अनुमािनत लागत वाले िनमा�ण काय� के िलए पेशगी जमा का मू� िकतना होगा?

 
A1
: काय� की अनुमािनत लागत का 2%

 

A2
: काय� की अनुमािनत लागत का 1%

 

A3
: काय� की अनुमािनत लागत का 3%

 

A4
: काय� की अनुमािनत लागत का 10%

 

1.0 0.00

Objective Question
124 124 यिद सफल िनिवदाकार CGST/IGST/UTGST/SGST अिधिनयम के तहत पंजीकृत िकए जाने का भागी नही ंहै तो रेलवे ____________

के अंतग�त उसके िबल से लागू GST काट लेगी और इसे संबंिधत �ािधकारी के पास जमा कराएगी।
 
A1
: �रटन� चाज� तं�

 

A2
: �रटन� कैश तं�

 

A3
: �रवस� चाज� तं�

 

A4
: �रवस� कैश तं�

 

1.0 0.00

Objective Question
125 125 रेलवे के साथ संिवदाकारो ंकी अनुमोिदत अथवा चयन सूची म� शािमल सभी अथवा कुछ संिवदाकारो ंसे आमंि�त िनिवदाएं __________

िनिवदा कहलाती ह�।
 
A1
: साव�जिनक

 

1.0 0.00
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A2
: खुली

 

A3
: सीिमत

 

A4
: िनजी
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SR. NO. ANSWER KEY
1 A3
2 A3
3 A3
4 A3
5 A4
6 A3
7 A2
8 A1
9 A3
10 A4
11 A3
12 A4
13 A4
14 A1
15 A4
16 A2
17 A4
18 A2
19 A4
20 A1
21 A1
22 A1
23 A2
24 A4
25 A1
26 A1
27 A1
28 A1
29 A1
30 A1
31 A1
32 A3
33 A1
34 A1
35 A4
36 A4
37 A4
38 A1
39 A4
40 A4
41 A4
42 A4
43 A1
44 A2
45 A4
46 A4
47 A1

ENGINEER - CIVIL VC No 37/19
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SR. NO. ANSWER KEY

ENGINEER - CIVIL VC No 37/19

48 A2
49 A1
50 A4
51 A1
52 A2
54 A2
55 A1
56 A1
57 A1
58 A1
59 A4
60 A4
61 A1
62 A1
63 A1
64 A4
65 A3
66 A1
68 A1
69 A2
70 A3
71 A2
72 A4
73 A1
74 A1
75 A4
76 A3
77 A2
78 A3
79 A3
80 A2
81 A3
82 A1
83 A4
84 A2
85 A1
86 A1
87 A4
88 A3
89 A2
90 A4
91 A1
92 A4
93 A4
94 A4
95 A1
96 A4
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SR. NO. ANSWER KEY

ENGINEER - CIVIL VC No 37/19

97 A4
98 A4
99 A1
100 A2
101 A4
102 A4
103 A1
104 A1
105 A1
106 A4
107 A1
108 A1
109 A2
110 A1
111 A2
112 A1
113 A3
114 A4
115 A3
116 A1
117 A1
118 A4
119 A1
120 A1
121 A4
122 A3
123 A1
124 A3
125 A3

53
questions will be excluded from evaluation and 
marks will be awarded to all the candidates

67
questions will be excluded from evaluation and 
marks will be awarded to all the candidates
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